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Question Number : 1 Question Id : 8247249241 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following examples illustrates-proximodistal principle of development?
Options:

1. Visual abilities are developed before learning to walk

2. Effective use of arms proceeds the ability to use hands

3. Grasping cannot be mastered before learning to integrate movement of individual fingers

4, Patterns of growth for body size, nervous system are different.

Question Number : 1 Question Id : 8247249241 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 8247249242 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Developmental changes -

Options :

1. occur in an orderly and sequential manner.

2. occur at very fast pace in infancy and then there is no growth till adolescence.
3. always occur in a linear manner rather than a spiral manner.

4. occur in a forward manner till adolescence and then move backwards.

Question Number : 2 Question Id : 8247249242 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 8247249243 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The interplay of environment and hereditary factors is responsible for-
Options:

1. only physical development

2. only cognitive development

3. physical and cognitive development

4. physical, social and cognitive development

Question Number : 3 Question Id : 8247249243 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 8247249244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about socialization of children is correct?
Options :

1. Media is an agency of primary socialization.

2. Media is an agency of secondary socialization.



3. Media is an important part of the child’s microsystem.

4. Media is not an agency of socialization.

Question Number : 4 Question Id : 8247249244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T==1 3 QTS0 &F 959 O & H-9] 9= 957 29
Options :

| e et i wrafies ger 2
,  HiTSaT ATaTSiRT S fEeTae T 2|
; Thfea == o T 7 1 AT feew 2

4 TfEaT wmaTsieRTor i g 7E 2

Question Number : 5 Question Id : 8247249245 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Piaget's theory, the tendency to focus attention on only characteristic of an object at a time is

referred to as -
Options :

1. centration.

2. reversibility.

3. egocentricism.

4. animism.

Question Number : 5 Question Id : 8247249245 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 8247249246 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correctly matched pair of Piagetian cognitive stage and it's defining characteristic.
Options :

1. Pre-operational Stage - Animism

2. Sensori-motor - Symbolic Thought

3. Concrete operational stage - Deferred Imitation

4. Formal operational stage - Centration

Question Number : 6 Question Id : 8247249246 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 8247249247 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Physical tools such as and aid and influence our cognitive development as

per Lev Vygotsky.
Options:

1. schemas; maps

2. schemas; language
3. maps; calculator

4. schemas; calculator

Question Number : 7 Question Id : 8247249247 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 8247249248 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Lev Vygotsky's view, private speech -
Options :

1. serves an important social function.

2. hinders cognitive development of children.
3. illustrative egocentric thinking of children.

4. does not have any cognitive function.

Question Number : 8 Question Id : 8247249248 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ot > o Y =
A FTAICHeR! o Te=R H, =i T —

Options :

r . [ 3
1 R q%ﬂ‘-;l_:-'l HIHIA =hld hiql ‘%|

5. =1 F THITS [T O &T4T =147 2
3, T ST SRR HI o Z9 2

4, TS ATHTCHF 12 81 T2 2

Question Number : 9 Question Id : 8247249249 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following characterize a progressive classroom?
(i) Availability of a variety of materials

(ii)) Range of activities and tasks

(iii) Following method of direct instruction

(iv) Focus on memorization and recall

Choose the correct option.
Options:

1. (i) (ii)

2. (iii) (iv)

3. (i) (i) (iii) (iv)

4. (i) (ii) (iv)

Question Number : 9 Question Id : 8247249249 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 8247249250 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of Kohlberg's stages with their underlying
principles?

Options :

1. Universal ethical principles - avoidance of punishment

2. Good-boy - Good-girl orientation - ideal reciprocity

3. Law and Order Orientation - equal exchange of favours

4. Social Contract orientation - self-chosen ethical principles of conscience

Question Number : 10 Question Id : 8247249250 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 8247249251 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per contemporary theories of intelligence,

Intelligence is -

Options :

1. Mere ability to imitate other
2. A specific ability

3. A set of capabilities

4. A singular and generic concept

Question Number : 11 Question Id : 8247249251 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 8247249252 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Teachers should discuss depiction of men and women in non - conformist gender roles to -
Options:

1. challenge gender - role flexibility.

2. challenge gender stereotyping.

3. promote gender bias.

4. promote gender discrimination.

Question Number : 12 Question Id : 8247249252 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 8247249253 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Teachers should encourage children to work individually and discourage co-

operation.
Reason (R): Collaboration is a highly ineffective strategy in a classroom with diverse learners.

Choose the correct option.



Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 13 Question Id : 8247249253 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 8247249254 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about assessment is NOT correct?

Options :

1. Assessment for learning takes place before, during and after the teaching - learning process.

2. Assessment for learning should focus upon formative assessment.



3. The process of assessment should be dynamic.

4. Assessment should focus on use of standardized assessment tools.

Question Number : 14 Question Id : 8247249254 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 8247249255 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a question to promote conceptual understanding and
critical thinking?

Options:

1. Which is the largest state in India?

2. What is the total area of the state of Kerala?

3. What measures should be taken to make society inclusive?

4. What is photosynthesis?

Question Number : 15 Question Id : 8247249255 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 8247249256 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To promote inclusion, it is important to have:
(i) Flexible curriculum

(i) Accessible building

(iii) Segregation of students based on ability
(iv) Competition centred pedagogy

Choose the correct option.
Options :

1. (i), (ii)

2. (i), (iii)

3. (i) (iv)



4. (iii) (iv)

Question Number : 16 Question Id : 8247249256 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 8247249257 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following characterizes “repetitive and ritualistic behaviour”?
Options :

1. Autism

2. Dyscalculia

3. Dyslexia

4. Visual Impairment



Question Number : 17 Question Id : 8247249257 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 18 Question Id : 8247249258 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will help inclusion of students with Attention Deficit Hyperactivity Disorder?
Options:

1. Break task into small, manageable chunks

2. Give long and repetitive assignments

3. Increase distraction in the classroom

4. Restrict multiple ways of engagement in class

Question Number : 18 Question Id : 8247249258 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 8247249259 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For the successful inclusion of students from economically weaker sections, a teacher should:
Options :

1. Correlate learning ability with the social class of children.

2. Place them in a separate section with low expectation.

3. Respect and consider their socio-economic background.

4. Use examples related to dominant cultures only.

Question Number : 19 Question Id : 8247249259 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 8247249260 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of appropriate accommodation strategy with

respective to inclusion of students with the specific learning preferences?
Options :

1. Kinesthetic: Read material aloud to them

2. Auditory: Highlight main points in books/notes

3. Tactile: Ask for oral summaries of material

4. Visual: Use maps and flows charts to organize materials

Question Number : 20 Question Id : 8247249260 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 8247249261 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): The act of learning involves a process of establishing connections among facts

observed and experienced by children.

Reason (R): Children learn in a linear way and not in spiral manner.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 21 Question Id : 8247249261 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 8247249262 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are proposed in National Education Policy 2020?
(i) Learning how to learn

(i) Increasing course content

(iii) 360-degree holistic progress report card

(iv) Standardized curriculum, pedagogy and assessment

Choose the correct option.
Options:

1. (i) (iv)

2. (i) (iii)

3. (ii) (iii) (iv)

4. (i) (ii) (iv)

Question Number : 22 Question Id : 8247249262 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 8247249263 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does NOT facilitate childrens' thinking?
Options :

1. Giving activities based on transfer of learning

2. Aiming towards memorization rather than understanding

3. Providing opportunities for self-regulation and being reflective

4. Relating new information to prior knowledge

Question Number : 23 Question Id : 8247249263 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 8247249264 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The establishment of a and atmosphere is an essential part of learning at

school.

Options :

1. collaborative, co-operative
2. competitive, boring

3. constructive, mechanical

4. threatening, challenging

Question Number : 24 Question Id : 8247249264 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 8247249265 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The sequence of presentation of concepts should be from:
Options :

1. Application-based to understanding-based

2. Higher-order to lower-order

3. Abstract to concrete

4. Simple to complex

Question Number : 25 Question Id : 8247249265 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 8247249266 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following facilitates problem-solving skills among the students?

Options :



1. Analogical thinking
2. Functional fixedness
3. Response set

4, Stimulus-response association

Question Number : 26 Question Id : 8247249266 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 8247249267 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a constructive way of responding to students’ errors?
Options :

1. Punishing the student to eliminate erroneous behaviour.

2. Giving cues & hints to help students identify their own error.

3. Reducing marks for making errors without any feedback.

4, Ignoring students’ error totally.



Question Number : 27 Question Id : 8247249267 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 8247249268 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sometimes stereotypes related to one's social identity cause beliefs about inequities among

students. Teachers can overcome the impact of these negative stereotypes by:
Options:

1. Telling the student that learning is an uncontrollable process.

2. Giving examples that indicates that stereotypes are true.

3. Emphasizing that learning significantly depends on efforts.

4. Using frequent rewards and punishments among students.

Question Number : 28 Question Id : 8247249268 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 8247249269 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student is studying to avoid last rank in the exams. This is an examples of:
Options :

1. Approach-oriented mastery goals

2. Avoidance-oriented mastery goals

3. Approach-oriented performance goals

4. Avoidance-oriented performance goals

Question Number : 29 Question Id : 8247249269 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 8247249270 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): School and life at community should not be linked in any way for effective teaching-

learning process.
Reason (R): Linking school and community delimits students’ opportunities for social participation.

Choose the correct option.

Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 30 Question Id : 8247249270 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SR (A) - TR - T3 3 et Feeirera ﬁuwj;:lﬁm ST 201 et ot 7 B T SR A
e

70 (R) : faamem Zﬁwim o1 S T T o1 FTATres WTTE o e Wi 2 9 2

e e

Options :
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Question Number : 31 Question Id : 8247249271 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not written correctly in the Roman Numerals?

Options :



IxIX

—

Question Number : 31 Question Id : 8247249271 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TteAtgs & & Tore TH SFieht O 92T T81 forgm T3 27
Options:

1. LXIX

2. XL

3. XVV

4. XC

Question Number : 32 Question Id : 8247249272 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

LCM of 40,50 and 60
HCF of 40,50 and &0

is equal to

Options :
1. 60



Question Number : 32 Question Id : 8247249272 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
40,50 =ik 60 =1 LCM 2

s ERUE LS
40,50 =ik 60 = HCF

Options :
1. 60

Question Number : 33 Question Id : 8247249273 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
If A and B are digits and (ABA) X 5 = 44B0, then values of A and B are

Options :
1. A=4,B=2
5 A= B=4

5 A=9,B=8



4 A=8,B=0

Question Number : 33 Question Id : 8247249273 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
I1E A 3T B 3 2 99T (ABA) X 5=44B0 %, A A ¥IRBHANE:

Options :

1 A=4,B=12
, A=2,B=4
3 A=9,B=8
4 A=8,B=9

Question Number : 34 Question Id : 8247249274 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

s : ; y -7 1
Which of the following numbers lie between the rational numbers e and — r '

Options :

|

[ ]

|
|

w

5 |
m |
: )
w |



|
Ul|r_u
.
=
.
|
[y

w |

Question Number : 34 Question Id : 8247249274 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
i 1

ﬁt—; % o= feue 29

[ o . =

FeeEa T 9 F

X

- ST giE T et 10

Options :
B 2 =3
1. —g* 3" 5

Question Number : 35 Question Id : 8247249275 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which least number must be subtracted from 3850 to make it a perfect square?
Options:

1.1



Question Number : 35 Question Id : 8247249275 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3850 T § f3FE =T TR T T S0 {6 98 U U7 T & S

Options:
1.1

Question Number : 36 Question Id : 8247249276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Values of m and n for which
R Rttty
is a linear equation in one variable, are

Options :

1.m=4,n=2

o m=3n=15



Question Number : 36 Question Id : 8247249276 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

m & n % 3 5 57 form 243 + 3}‘3”_3 = 7, T = ST (e e 2, FeAferay 2

Options :

1 m=4 n=23>

5 m=3 n=15

3 m=4 n=1.>5

4 =3 n =3

Question Number : 37 Question Id : 8247249277 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When x is increased by 20%, it is equal to y and when y is decreased by 50%, it is equal to . Then, what percent of
X isequaltoz?

Options :

1. 80%

5 60%



Question Number : 37 Question Id : 8247249277 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
0% 20% F I TS, T ) RS AT 0% A 2, T T 2 R T, A

Options :
1 80%

5 60%

Question Number : 38 Question Id : 8247249278 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
To calculate the value of 196 X 206, a student expressed it in the form 200% + 200p — 24. The value of 3p* - 28 is
Options :

-

1.

Question Number : 38 Question Id : 8247249278 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

196 X 206 1 T TTere 7 3 o, T ot 8 2007 + 200 - 24 % T H &7 | 3p3 - 28 AW
=

T

Options :

1. 8

[

Question Number : 39 Question Id : 8247249279 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In the expression
(x+1)(2x+ 1)+ (x+ 2)(x — 1), if coefficient of X is k , then the value of 2k — 9 is

Options :

Question Number : 39 Question Id : 8247249279 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
T (x+ 1) (2v+ 1)+ (x+2) (v = 1) 5, T FT00 & 2, 2% - 9FAN2:

Options :

Question Number : 40 Question Id : 8247249280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

5pq(p®—q*)(p-1)
(sp2-25p+20M2p(p+q)

is equal to

Options :

alp — q)
1. 2(p —4)

plp —q)
2. 2(p-4)

2(p —4)
3. rlp—gq)

2(p — 4)
4. alp —q)

Question Number : 40 Question Id : 8247249280 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



spq (p2—q?) (p—1)
e 2
(5p2—25p+20) {2p (p+q)} ?

Options:
q(p —q)
1. 2(?9 g 4)
p(p —q)
2. 2(?9 —4)
2(p —4)
3 P —q)
Z{p —1)
4 9@ —q)

Question Number : 41 Question Id : 8247249281 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If x is the supplement of an angle 87°, then the value of 3x — 100° is equal to
Options :

1. 97°

2. 79 ?

3 197°

4 179°

Question Number : 41 Question Id : 8247249281 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
7t foreft 10T 87 © T HEH x B, T 3x — 100° FTAEE:

Options :
1. B

5 T9E
3 197°

4 179°

Question Number : 42 Question Id : 8247249282 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In AABC and ADEF, AB = 5em, AC = 7cm, £A = 90° FD = 5¢m, EF = 7em and £F = 90°, Then,
Options :

1 A ABC = AEDF,by RHS congruence rule

, AABC = AFDE,by RHS congruence rule

3 A ABC = AEDF,by SAS congruence rule

4 AABC = AFDE, by SAS congruence rule

Question Number : 42 Question Id : 8247249282 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AABCGﬁT\ADEFﬁ, AB=5cm, AC=7cm,ZA=90° FD=5cm, EF=Tem 3R LF=90° %ma,



Options :
. AABC = AEDF, RHS ®aime=ar = 5171

, AABC = AFDE, RHS waime=ar a9 31

; AABC = AEDF, SAS waimasar e 3171

. AABC = AFDE, SAS matmamar Fae g

Question Number : 43 Question Id : 8247249283 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
D is a point on the side BC of a triangle ABC such that £B = 20° and AB = AD. Then, ZADC: ZADB is

Options :

B

N

1.

N
n
[

| S
-]

Question Number : 43 Question Id : 8247249283 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T P ABC 1 ¥ BC T o D WA 2 7 £ B =20° 27 AD = BD 77, L ADC: L ADB
?

Options :



—
-2
A

w
]
~1

[

Question Number : 44 Question Id : 8247249284 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ina parallelogram PQRS, £P = 7x — 6° and R = 5x — 18°, Then, the angles of the parallelogram are

Options :
1. 78°,102°,78°102°

, 92°,88°,92°,88°
3 60°,120°,60°120°

4. ©0°,130°,50°,130°

Question Number : 44 Question Id : 8247249284 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
folt TR T PORS &, £ P =Ty — 6°, 7 £ R =5+ 18° 2| 78, T WA T4 & 0 ¢,

Options:

1 78°.102°,78°,102°

, 92°,88°,92°,88°



3 60°,120°,60°, 120°

502, 1305, 507, 1307

Question Number : 45 Question Id : 8247249285 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Number of faces, edges and vertices of a polyhedron are 7, 15 and  respectively. Then, the value of 3x + 6 is equal to
Options :
1. 28

Question Number : 45 Question Id : 8247249285 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e e o e, AT ST ST 61 WA . 7, 15 S v €] 7, 3 + 6 1 A S 2

Options :
1. 28

2. 36

3 14



4. 18

Question Number : 46 Question Id : 8247249286 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The altitude corresponding to the longest side of the triangle with sides 30cm, 34cm and 16cmis x. Then, the value of

(2x+5)(in cm) s

Options :

343

1. 17

354

2. 17

363

3. 17

356

4, 17

Question Number : 46 Question Id : 8247249286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬂmﬁw e, 34 cm 4 16 cmﬁﬁﬁgﬁﬁﬂﬁﬁ@ﬂﬁﬂ@ﬁ?ﬁﬁﬁﬁl T, (20+ 5)FAH (cm )

¢

Options :

545
1. 17

54
2 17



565
3. 17

556
4. 17

Question Number : 47 Question Id : 8247249287 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The cost of polishing a circular table of diameter 1.6 m at the rate of 230 per m* is (Use 7 = 3.14) (approx)
Options :
1. 60.30
2 %63.20

3. 358.40

4. 362.30

Question Number : 47 Question Id : 8247249287 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1.6 m=™ cu«.vﬂnmq_mmuﬁa’uﬁ‘mr%nﬁ&‘?rat%ui%wwﬁﬁwaﬁ(7T = 3,14 SE At
Options:
1. 60.30

5 263.20

3 258.40



4. 36230

Question Number : 48 Question Id : 8247249288 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Total surface area of a right circular cylinder is 748cm” and circumference of its base is 44cm. Volume of the cylinder is

o

(n=-)

7
Options :

1. 1540 em’

5 2260 cm®
3 2310 cm’

4. 3080 cm’

Question Number : 48 Question Id : 8247249288 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

%maaméawwmwm o’ 2 T S ST 1 ORI 44 o 2] 39 S T A E:

o2

Options :

1 1540 cm®

3
2 2260 cm’



3. 2310 cm’

4. 3080 cm’

Question Number : 49 Question Id : 8247249289 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A mumber is selected at random from the list of numbers 27,28,29, ....,76,77,78 and 79. The probability that the
selected number is divisible by both 2 and 3 is

Options :

N
9 |

w
4 |

Question Number : 49 Question Id : 8247249289 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 27,28, 29, ., 76, 77, 78 30 79 1 5 8 o ST e 0 1 54 A 21 W 2 o
3T TS B 1 T
Options:
9
. 52



Question Number : 50 Question Id : 8247249290 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Mean of median and mode of the observations 37,43,35,45,50,43,38,30,43,40,36,38,43,47 and 38 is

Options :
1. 39

5 40.5

4, 41

Question Number : 50 Question Id : 8247249290 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T 37, 43, 35,43, 50, 43, 38, 30,43, 40, 36, 38, 43, 47 ¥ 38 3 T oA A5 ¢ AA £

Options :
1. 39



Question Number : 51 Question Id : 8247249291 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a student finds difficulty in applying geometrical theorems to solve a given problem in geometry, then which is the
most appropriate strategy that the teacher should adopt?

Options :

1 Punish the student so that he/she does not repeat the mistalke.

2. Ask the student to rote memorise the theorem.

3. Use multisensory models and teaching aids to help student understand various theorems and their applications.

4 Tell the student to copy the steps of solved problems from the black board and apply the method for similar problemns.

Question Number : 51 Question Id : 8247249291 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tt Toret faameff ot st & o AT 0 2 R § oS 2 2, A e | o far

Options :

| Tt =t SfUea AT A1 9 e’ 7 are)

, Fereft v i ¥ o



FEEAET AT AT R0 AT % IuAn § At s
; TEET o FEE T SR I ST & faen i werat e

Taremef o1 2 o1 TS TSR] o ST Y AU W SR (o o oAU 37 3 e maguq\m T T
4, TS A 5 o |

Question Number : 52 Question Id : 8247249292 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to contemporary view about students’ errors in mathematics, which of the following is no longer valid
Options :
1. They tell about students” low IQ.

o They are a part of learning.
3. They are rich source of information for improving mathematics teaching.

4 They can guide the teacher in planning her class lessons.

Question Number : 52 Question Id : 8247249292 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
AT e 3 ST TG 3 9.8 5 T 0 T 3 1 5 e 3 & 7 A T
?

Options :

| et e o i gfg-mfed (1Q) % = H sare F

, 3 At = fewan #
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Question Number : 53 Question Id : 8247249293 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework (2005), which of the following are considered to make mathematics
learning more joyful and interesting?

Options:

1. Using textbooks full of colours and pictures.
- Using mnemonic techniques to help students memorize formulae.
3. Including puzzles, stories and mathematical tricks in everyday lessons.

4. Using computer based resources extensively for teaching.

Question Number : 53 Question Id : 8247249293 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS T Ot (2005) 3 S, FReafor H & e 0 e 1 AT A o & 5
T ST 27

Options :

1 ek g ah TSI U F T

ST SETeIe Th1enT BT IUT ek THOT o6 3 bl Tt 18 Tl
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Question Number : 54 Question Id : 8247249294 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an appropriate example of Mathematical modelling?

Options :

1 Predicting the arrival of monsoon in a country.
- Using a model of solid cube to explain about its faces and edges.
3 Estimating the volume of blood inside the body of a person.

4 Finding the width and depth of a river at an unreachable place.

Question Number : 54 Question Id : 8247249294 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frAfeAtEd o ® -1 T a9 (FTS{eT) U SaTetl J8
Options:

| Foer it g 3 s o

, T T FoFATOT 3 A & WG o 1070 31 74 (8 3 T T H15e 1 00 e



5. T 3T % SR I T T STTIA SRS AT

. U U T W ToRwT 72T AT TEE S =SS F1A FAT S uge e < |

Question Number : 55 Question Id : 8247249295 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the best way of incorporating ICT (Information and Communication Technology) in
mathematics teaching?

Options :

1 Showing power point slides with formulae and figures.
5 Using internet videos to show the methods of solving difficult questions to students.
3, Using mathematics specific computer applications like Geogebra and other simulation tools as teaching resources.

4. Making examination question papers of mathematics with the help of computers.

Question Number : 55 Question Id : 8247249295 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AR 3 & 3-8 TV 1015 3T .21, (T 10 e o STt ) 1 STt 707 1 e
T A 2
Options:

1 AT AR SATHAT T G % A0, T W15 FATSS 1 ITFNT FLA

, TR W IS FTEAT FRT T T KIS T T FA i (e T



5 STTSTST T UM Fd T FET H TG

) FEC T TETIAT § T T UL 26 -0 S

Question Number : 56 Question Id : 8247249296 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following and choose the correct option.
Assertion (A): Various studies in India show that there is a high failure rate of students in mathematics.
Reason (R): As girls do not have mathematical abilities therefore maximum girls fail in mathematics.

Options :

1 Both (A) and (R) are correct but (R) is not the correct reason for (A).
2 Both (A) and (R) are correct but (R) is the correct reason for (A).
3 Both (A) and (R) are incorrect.

4. (A) is correct but (R) is incorrect.

Question Number : 56 Question Id : 8247249296 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR (A) : T 5 foT 0 Tt 9637 QA 2 o6 Terat i a1 0T X e o S o
T (R) : MR wTETeRaT B VIS 49T e e 2 SeA, Ve H SATefehere STgTerell et 2l 2|

Options:
1 3T (A) 3R (R) T8 2 W] (R), (A) T HE FROT 27 2




, M (A) 3T (R) T & 37 (R), (A) T 9 FH01 2

5, T (A) 3R (R) Tefe 2

. (A)TEE, ] (R) e 2

Question Number : 57 Question Id : 8247249297 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“Keshav 11'134 meters of cloth. He needsl meters to make one shirt. How many shirts can be made in the given
length of clo h assuming there is no wi astaee"
This question is an example of-

Options :

1. Multiplication of fractions

2. Addition of fractions
3. Subtraction of fractions

4. Division of fractions

Question Number : 57 Question Id : 8247249297 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

I FI 4= ﬁam%aﬁwmmamaﬁnm#w%wwmmmmaﬁ
mﬁﬁmmqwmmmm%
T 1 T T 2 —

Options :



1 ﬁqﬁﬁrw
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=T 1 ST

w

Tt = farrerer ()

Question Number : 58 Question Id : 8247249298 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For which of the figures given below, formula of Area cannot be arrived at using triangular and rectangular paper
cuttings?

Options :
1. Aquadrilateral

o Atrapezium
3. Aparallelogram

4. Aregular hexagon

Question Number : 58 Question Id : 8247249298 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

PTG ST SRR U et 1 S m&ﬁ%ﬁﬁw%ﬁﬁﬁ%ﬁwzﬁ&ﬁmwwﬁw
o 1 )

Options :




1 L)
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Question Number : 59 Question Id : 8247249299 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following tasks can help students develop the idea of central tendencies of a given numerical data?
Options :

1. Collecting information about favourite TV serial from 100 people.
- Representing the information obtained above in lusing a pie chart.
3, Classifying the marks obtained by 50 students ona 100 marks exam and grouping in the interval of 10.

4. Solving problems related to mean, mode and median given in the textbook.

Question Number : 59 Question Id : 8247249299 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FATerTa 5 & 1.1 37 QAT a8 (o T U ST ATerg) 01 9 T 6 (e T ey e
T e )

Options :




1 100 TN | 375 TEETET St HREet & 9N SHHRT Uahi F|

, oo | o T SRR TS =T S ST e

. 100 3% 3T TEAT & 50 TPA 5T STH i 1 s et A 10 % SHeer T S|

. IG5 5 0 0 H1T, e S0 A1 § Wa T ST 1 T3 7 (1) 1 e ¥ 2t e

Question Number : 60 Question Id : 8247249300 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following examples cannot be helpful to explain the concept of integers?

Options :

1. Credit and debit statements in bank account.
o Various blood groups like AT, AB™ O etc.
3. Temperature going below and above 0 °”C.

4. Slowing down of a vehicle as negative acceleration and speeding up as positive acceleration.

Question Number : 60 Question Id : 8247249300 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Freafeafias & & #1991 TaTerw Tept o1 ST 1 57 T e o w2

Options:

| S QT 3 ST A (3hTEe) AR et 8t (o) w farawor




, Tt R SE - AT, AB™, 0~ &1l

3. ATIHE 0°C & F=r o7 S0 1 727 2

4 T ATEA T FTCH w0 3 Y F AT TR T @ & w9 F o9 2

Question Number : 61 Question Id : 8247249301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An object X sinks in liquids P and Q but floats in liquid R. Which of the following conclusions can be made from these
observations?

A) Density of X is more than density of P
B) Density of X is less than density of R
C) Density of P is equal to density of R
D) Density of P is less than density of R

Options :
1. AB.C
2 A,B.D

3 B.C.D

4 AC.D

Question Number : 61 Question Id : 8247249301 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



e 3 X 3 P ¥ Q H 8 A 2, 76 38 R H v 2 5 A § T e et o 6
A. X 1 7 P & T AV 2
B. X FE RF T @ = 2
C. P 1 7 R % = % & 2|
D. P %71 5 R % T & f 2]
Options :

CABERC

1

, A,B#RD

' B,CHRD

3

4 A, CRD

Question Number : 62 Question Id : 8247249302 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which fat soluble vitamin is necessary for good skin?
Options :

1. Vitamin A

2. Vitamin C

3. Vitamin B

4, Vitamin K

Question Number : 62 Question Id : 8247249302 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

~ R o ~ 5 [
=T o= o To70 FHT H AN -9 [GHT SATIZTF 27

Options :

. fFam= A
, TEEE= C
; == B

4. T K

Question Number : 63 Question Id : 8247249303 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After rain, impurities and suspended particles settle down. Which of the following process is responsible for this?
Options :

1. Sedimentation

> Loading

3. Condensation

4. Distillation

Question Number : 63 Question Id : 8247249303 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. AIHIE

2. HIUT

Question Number : 64 Question Id : 8247249304 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct

A) Chemical changes are usuvally irreversible
B) In a Physical change, there is always change in state

Options:
1. Ais true and B is false
2. Als false and B is true

3. Both A and B are true

4. Both A and B are false

Question Number : 64 Question Id : 8247249304 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 8247249305 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following feature do not help hydrophytes to stay afloat in water
A) The stalks and stems have large tunnels
B) Leaves have waxy coating
C) Large circular disc shaped leaves
D) Finger like and ribbon like leaves and stem

Options :
1. Aand C
2 Aand B

3. Band C

4, Band D

Question Number : 65 Question Id : 8247249305 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 8247249306 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following precautions are to be taken while storing bar magnets?
Options:

1 Bar magnets should be stored in pairs such that like poles are on the same side
- A pair of bar magnets should be separated by a wooden piece

3. The ends of bar magnets should be connected by soft iron pieces

4. They should be stored in wooden box



Question Number : 66 Question Id : 8247249306 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T T T HUST F E0 (0 T F F A A o A 82

Options:

, TS T F THI 39 T HUSTIG AT T, 196 o6 T 23 0 2 A 2|
, TS T U T BRI F TS § JUF T =1
; T TEEHT o (9 TAIH HAIE o ZHST | S =172

4 5T UF THEI F S8 F [T =1Me]

Question Number : 67 Question Id : 8247249307 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

X is the largest gland in our body. It secretes Y which is stored in Z. X, Y, Z are respectively
Options :

1. Liver, Bile Juice, Pancreas

o Pancreas, Pancreatic Juice, Gall bladder

3. Liver, Bile Juice. Gall bladder

4 Pancreas. Gastric Juice, Stomach

Question Number : 67 Question Id : 8247249307 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR X R A T A Y M A e 2 F WA B X, Y, ZF E —

Options:

| TE U, STT=T9TS

, IR, ST T, o

Question Number : 68 Question Id : 8247249308 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the following organisms with their mode of nutrition

Mode of Nutrition Organism
(a) Autotrophic (1) Mushroom
(b)Holozoic (ii)  Amoeba
(c) Parasite (iii) Algae
(d) Saprophytes (lv)  Cuscutad5t
Options :

1. (@)-(ii), (b)-(ii), (c)-(iv), (d)-(1)

7 (a)-(1L), (b)-(iiL). (c)-(1), (d)-(iv)

5 (@)D, (B)(iv), (e)-(D). (d)-(id)

4. (@), (b)-(id). (€)-(1), (d)-(iii)



Question Number : 68 Question Id : 8247249308 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 8247249309 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the chemical reaction A+ B — C, what can you say surely about nature of A, B and C?
Options:
1. Aand B are elements and C is a compound

> Aand B are compound and C is a mixture

3 Aand B may be compound or elements and C s element



4. Aand B may be element or compound, C is compound

Question Number : 69 Question Id : 8247249309 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 8247249310 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The factor on which the shadow formation of an object is not dependent is
Options :

1 shape of an object

5 distance of the object from source of light

3. Pposition of the object w.r.t source of light

4. colour of the object



Question Number : 70 Question Id : 8247249310 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 8247249311 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A, B, C and D are indicators which give the following changes in acids and bases.
Identify them

Indicator Colour change in acid Colour change in base
A no change Reddish brown
B colourless pink
C red blue
D dark pink green
Options :

1. A—china rose. B — turmeric, C — blue litmus, D — phenolphthalein

2 A — turmeric, B — china rose, C — blue litmus, D — phenolphthalein



3. A—phenolphthalein, B — turmeric, C —red litmus, D — china rose

4 A—turmeric, B — phenolphthalein, C —red litmus, D — china rose

Question Number : 71 Question Id : 8247249311 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A, B, C 3% D 977 & 51 3701 3717 67eT § (9 Uiaas d 2
A% | o H 1 giEed STk | 17 giEaq
B TEE :jfna'r
C AT Gkl
D TTERT TTATET =
Options :

, A-TSEA HF,B—W,C—W%W,D—QJ%QEM

, A-T0, B - TEEA 1 %, C — e foreqa, D - FRewdtem

, A -FFERIfer, B - T, C — =1t {727, D - 58 #1 5

. A —E=8T. B — R dTT. C — oIt foreaw. D — TE& 31 %A

Question Number : 72 Question Id : 8247249312 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Following observations are noted regarding four metals P, Q. R and S.
Q displaces P and S from their respective salt solutions

P displaces S and R from their respective salt solutions

S displaces only R from its salt solution

Which is the second most reactive metal?
Options :
1. P

2. Q

Question Number : 72 Question Id : 8247249312 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. P
2. Q
3. R



Question Number : 73 Question Id : 8247249313 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A concave mirror and convex mirror are cut from same spherical glass ball but the aperture of concave mirror is more
than the aperture of convex mirror. What can be said about their focal lengths?

Options :

1 Focal length of concave mirror is more than that of convex mirror
o [Focal length of convex mirror is more than that of concave mirror
3 Both have same focal length

4 Focal length cannot be compared with given information

Question Number : 73 Question Id : 8247249313 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 8247249314 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true regarding sound waves?

Options :

1. Sound waves travel fastest in gases
» Human beings can hear sound whose frequency is 15000 Hz

3. Sound waves cannot be reflected

4 The loudness of sound depends on the frequency of sound wave

Question Number : 74 Question Id : 8247249314 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 8247249315 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT ftrue regarding the moon?
Options :

1. Rainbow cannot be seen on moon.

o The weight of an object is less on the moon as compared to that on the earth.

3. On full moon day. moon comes between the sun and the earth.

4. The periods of rotation and revolution of the moon are almost same.

Question Number : 75 Question Id : 8247249315 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 8247249316 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Assertion (A) — Water can be used to extinguish fire caused by short circuit of an electrical appliance.
Reason (R) — Water lowers the ignition temperature of burning material.

Options :
1. (A) is true and (R) Is correct explanation of (A).
2 (A) is true but (R) is not correct explanation of (A).

3 (A) is false but (R) is true.

4 Both (A) and (R) are false.

Question Number : 76 Question Id : 8247249316 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 8247249317 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true?
S1 — A soil with high percolation rate has low water holding capacity.
S2 — A soil with high percolation rate has low aeration.

Options :

1. Sl is true and S2 is false
2. Sl is false and S2 is true
3. Both S1 and 52 are true

4. Both S1 and S2 are false

Question Number : 77 Question Id : 8247249317 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 8247249318 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following glands occur in pairs in human beings?

Options :
1. Adrenal, thyroid

) Pancreas, ovaries
3 Pituitary. thyroid

4. Pituitary, pancreas

Question Number : 78 Question Id : 8247249318 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 8247249319 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

People usually put a round piece of cloth on their head before putting a heavy load. This is helpful because

Options :

1 Pressure is decreased by increasing area of contact
5 Pressure is decreased by decreasing the area of contact
3, Force is decreased by increasing the area of contact

4. Force is increased by decreasing area of contact

Question Number : 79 Question Id : 8247249319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 8247249320 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘X' is charged by Y. It is found that *X" obtains charge opposite to that of Y. the charging process could have been



Options :

1. Friction or conduction
2. Friction or induction

3. Only conduction

4. Conduction or induction

Question Number : 80 Question Id : 8247249320 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 8247249321 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does NOT align with the social constructivist model of science teaching and learning.

Options :



1. Students collaborate with authoritative sources and among themselves to arrive at convineing scientific explanations.
o Science is interpreted as plausible explanations for phenomena which can be understood through argumentation.
3. Students share their personal experiences and experiences of a phenomenon.

Science is interprefed as a body of facts, laws and theories which can mainly be understood through personal
4, experience.

Question Number : 81 Question Id : 8247249321 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 8247249322 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher Is trying to teach the concept of good & bad conductors of electricity to class VI students. He begins by
providing the definition of two terms. He then demonstrates how placing a good conductor like a safety pin between
two ends of an open circuit consisting of a battery and a bulb completes it and bulb begins to glow. On the other hand,
placing a poor conductor like a plastic scale does not complete the circuit and the bulb does not glow. He then invites
the students turn-wise to his desk & asks them to themselves verify this. How would you evaluate the approach from an
inquiry - oriented perspective?

Options :

1. It is an effective approach that encourages inquiry.
> Demonstrating more examples of good and poor conductors would make the approach inquiry — oriented.
3. It Is not an effective approach for encouraging inquiry.

4. Asking questions in the end would make the approach inquiry — oriented.

Question Number : 82 Question Id : 8247249322 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 8247249323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher finds that her class VIII students have difficulty in comprehending that non-living objects like a table can
exert a force on other objects. She realises that this would cause a difficulty for them in understanding the concept of
normal reaction (force). Engaging her students in which of the following activities would be helpful in making them
understanding this concept?

Options :

1 Playing tug of war
o Pressing on a spring kept on ground
3 Weighing different objects on a pan balance

4. Pulling a wheeled chair towards oneself.

Question Number : 83 Question Id : 8247249323 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 8247249324 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements best describes the statement — science is tentative’

Options :

1. Science is developmental
5 Science is predictive
3. Science is a social activity

4. Sclence proceeds linearly

Question Number : 84 Question Id : 8247249324 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 8247249325 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a difficulty you would specifically associate with the interpretation of a text book
diagram of solar eclipse formation?

Options:

1. Depiction of three — dimensional phenomenon is two - dimensions
o Understanding of the relative distances between the sun. the earth and the moon
3, Identification of the direction of gravitational force between the sun, the earth and the moon

4 Understanding of the relative sizes of the sun, the earth and the moon.

Question Number : 85 Question Id : 8247249325 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 8247249326 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the beginning of the chapter ‘motion and time’ a teacher wishes her students to appreciate the need for standard units
of distance. Which of the following activities would be most suitable for the purpose?

Options :

1. Students measure the length of their classroom in footsteps and share their results
5 Students use a metre scale to find out the length of their classroom
3. Students compare a metre scale with a 12-inch scale and note their observations

4. Students estimate the height of the door of their classroom in inches

Question Number : 86 Question Id : 8247249326 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 8247249327 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements best describes the relationship between science and technology?

Options :

1. Scientific principles are discovered first and technological application happen later.
5 Science is an open — ended exploration whereas technology is usually goal oriented.
3. Technology implies the use of advanced equipments and whereas science is largely theoretical.

4. Sclence was part of ancient human civilisation but technology is relatively recent

Question Number : 87 Question Id : 8247249327 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 8247249328 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher along with his students is carrying out a study on germination of seeds. They take some dry seeds of different
kinds and plant them in different physical conditions. They observe, measure and discuss the growth over a period of
time. During the course of the activity, teacher asks questions which require various process skills. The questions asked
by the teacher are given in column I

Match these with the appropriate process skills

Column I Column IT

(A) What are the differences (I)  communication
between seeds of different
fype

(B)Why do you think some ()  predicting
seeds are growing more
quickly than others?

(C)Draw a diagram to depict (i) observing
the changes in the seeds

(D)Based on your observation |  (iv)  hypothesising
what do you think would
happen if we double the
amount of water

Options :
1 (A)-(11), (B)-(1). (C)-(1v). (D)-(1i1)

3 (A)-(1L), (B)-(1v), (C)-(1), (D)-(1ii)

3. (A)-(iii), (B)-(iv), (C)-(ii), (D)~(1)

4 (A)-(11), (B)-(111). (C)=(1), (D)-(1v)

Question Number : 88 Question Id : 8247249328 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options:
. Ax(ii), B(i), C(iv), D(ii)
, A(ii), B(iv), C(i), D~(ii)

5 A=(iii), B-(iv), C~(ii), D-(i)

4 A-(ii), B-(iii), C-(i), D-(iv)

Question Number : 89 Question Id : 8247249329 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In an inquiry oriented class in which a class VII teacher is introducing the concepts of physical and chemical change,
which of the following steps would precede the rest?

Options :

1. Teacher defines and explains the meaning of a physical and chemical change
o Teacher explains and give examples of various reversible and irreversible changes

Teacher exposes the students to various physical and chemical changes and asks them to reflect on the similarities and
3, differences

4. Teacher writes a chemical equation and asks students to identify the reactants and products

Question Number : 89 Question Id : 8247249329 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 8247249330 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is desirable features/ of the textbook development process?
Options :

1. We should strictly follow ‘one nation, one textbook’ norm.

5 Actual process of writing of the textbooks should only involve practicing scientists.

3. Intensive and wide — spread field trials of textbooks must be carried out.

4. Textbook writing by individuals & NGOs must be discouraged.

Question Number : 90 Question Id : 8247249330 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I

Section Id : 824724266



Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724506
Question Shuffling Allowed : Yes

Question Id : 8247249331 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions/comp lete
the statements that follow by choosing the correct options out of
the given ones.

I married early, and was happy to find in my wife a
disposition not wvery dissimilar to my own temperament.
Observing my partiality for having pets at home, she lost no
opportunity of procuring those of the most agreeable kind. We had
birds, gold-fish, a fine dog, rabbits, a small monkey. and a cat.

This latter was a remarkably large and beautiful animal,
entirely black, observant and thoughtful to an astonishing degree.
In speaking of his intelligence, my wife, who at heart was not a
little superstitions, made frequent allusions to the ancient popular
notion, which regarded all black cats as witches in disguise. Not
that she was ever serious upon this point — and I mention the
matter at all for no reason than that it happens, just now, to be
remembered.

Pluto — this was the cat’s name — was my favourite pet and
playmate. I alone fed him, and he attended me wherever I went
about the house. It was even with difficulty that I could prevent
him from following me through the streets.

Our friendship lasted. in this manner, for many years. during
which my general temperament underwent a change for the worse.
I grew, day by day, more moody, more irritable, more regardless
of the feeling of others. I suffered myself to use foul language to
my wife. At length I offered her violence. My pets, of course, were
made to feel the change in my behaviour. I not only neglected, but
ill-used them. For Pluto, however, I still retained sufficient regard
to ‘restrain’ me from maltreating him. But my disease grew upon
me — for what disease is like Alcohol! And at length even Pluto,
who was now becoming old and somewhat peevish — even Pluto
began to experience the effects of my ill temper.

Sub questions

Question Number : 91 Question Id : 8247249332 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The writer found in his wife a:

rich and beautiful lady.

lady belonging to a noble family.

lady with a similar taste and temperament.
sophisticated and cultured lady.
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Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247249333 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

His wife shared his:

love for books.

taste in historical movies.
deep desire for alcohol.
love for small homely pets.

e ol vl

s

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247249334 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct option:

1. Pluto was the writer’s constant companion at home
and outside.

He never ill-treated Pluto.

His wife cared for Pluto more than he.

She was very superstitious.

oWt

Options :
1.1
2.2
3.3



4.4

Question Number : 94 Question Id : 8247249335 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.

(a) The writer’s wife believed that black cats are actually
witches.
(b)She procured a black cat for her husband.

1. (a) is right and (b) is wrong.
2. (b) is right and (a) is wrong.
3. Both (a) and (b) are right and (b) follows (a).
Both (a) and (b) are right and (b) does not follows
(a).

e

Options:
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247249336 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:

(a) ‘Pluto was most devoted to the writer.

(b) Over a period of time a change for the worse came a
bout in the writer’s temperament.

(c) Yet, he continued to love his wife.

1. (a) is right and (b) is wrong.
2. (b) is right and (a) is wrong.
3. (c) isright and (b) is wrong.
. (b) is right and (c) is wrong.

s

Options :

1.1



2.2
3.3
4.4

Question Number : 96 Question Id : 8247249337 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘a disposition not very dissimilar ....”
The underlined word here means the same as:

inclination
disposal
settlement
illness

W -

i

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247249338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘opportunity of procuring those .....7
An antonym of the underlined word is:

. approving of
2. disposing of
3. lignoring

depending upon

g

Options :
1.1
2.2
3.3
4.4



Question Number : 98 Question Id : 8247249339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘T alone fed him’
The underlined word is a/an

Noun
Pronoun
Adjective
Verb

i e

P

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247249340 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘my wife, who at heart was not ....."7
The underlined expression is a/an clause.

Principal
Noun
Adjective
Adverb

i e

P

Options :
1.1
2.2
3.3
4.4

Question Id : 8247249331 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No



Question Numbers : (91 to 99)
Question Label : Comprehension

Read the passage given below and answer the questions/comp lete
the statements that follow by choosing the correct options out of
the given ones.

I married early, and was happy to find in my wife a
disposition not wvery dissimilar to my own temperament.
Observing my partiality for having pets at home, she lost no
opportunity of procuring those of the most agreeable kind. We had
birds, gold-fish, a fine dog, rabbits, a small monkey. and a cat.

This latter was a remarkably large and beautiful animal,
entirely black, observant and thoughtful to an astonishing degree.
In speaking of his intelligence, my wife, who at heart was not a
little superstitions, made frequent allusions to the ancient popular
notion, which regarded all black cats as witches in disguise. Not
that she was ever serious upon this point — and I mention the
matter at all for no reason than that it happens, just now, to be
remembered.

Pluto — this was the cat’s name — was my favourite pet and
playmate. I alone fed him, and he attended me wherever I went
about the house. It was even with difficulty that I could prevent
him from following me through the streets.

Our friendship lasted. in this manner, for many years. during
which my general temperament underwent a change for the worse.
I grew, day by day, more moody., more irritable, more regardless
of the feeling of others. I suffered myself to use foul language to
my wife. At length I offered her violence. My pets, of course, were
made to feel the change in my behaviour. I not only neglected, but
ill-used them. For Pluto, however, I still retained sufficient regard
to ‘restrain’ me from maltreating him. But my disease grew upon
me — for what disease is like Alcohol! And at length even Pluto,
who was now becoming old and somewhat peevish — even Pluto
began to experience the effects of my ill temper.

Sub questions

Question Number : 91 Question Id : 8247249332 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The writer found in his wife a:

rich and beautiful lady.

lady belonging to a noble family.

lady with a similar taste and temperament.
sophisticated and cultured lady.

bl e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247249333 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

His wife shared his:

love for books.

taste in historical movies.
deep desire for alcohol.
love for small homely pets.

SR e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247249334 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct option:

1. Pluto was the writer’s constant companion at home
and outside.

He never ill-treated Pluto.

His wife cared for Pluto more than he.

She was very superstitious.

w19
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Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 8247249335 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.

(a) The writer’s wife believed that black cats are actually
witches.
(b) She procured a black cat for her husband.

. (a) is right and (b) is wrong.
. (b) is right and (a) is wrong.
Both (a) and (b) are right and (b) follows (a).
Both (a) and (b) are right and (b) does not follows
(a).

L ba —

o

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247249336 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:

(a) ‘Pluto was most devoted to the writer.

(b) Over a period of time a change for the worse came a
bout in the writer’s temperament.

(c¢) Yet, he continued to love his wife.

. (a) is right and (b) is wrong.
. (b) is right and (a) is wrong.
. (c) is right and (b) is wrong.
. (b) is right and (c) is wrong.

Ll bl

I

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247249337 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘a disposition not very dissimilar ....”
The underlined word here means the same as:

inclination
disposal
settlement
illness

W -

i

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247249338 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘opportunity of procuring those .....°
An antonym of the underlined word is:

approving of
disposing of
ignoring
depending upon

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247249339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘T alone fed him’
The underlined word is a/an

Noun
Pronoun
Adjective
Verb

W -

i

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247249340 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘my wife, who at heart was not .....°
The underlined expression is a/an clause.

Principal
Noun
Adjective
Adverb

W -

P

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 824724507

Question Shuffling Allowed : Yes

Question Id : 8247249341 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the stanzas given below and answer the questions/complete the
statement that follow by choosing the correct options out of the given
ones.

The birds around me hopp’d and play’d
Their thought I cannot measure,
But the least motion which they made
It seem’d a thrill of pleasure.

o -

The budding twigs spread out their fan
To catch the breezy air:

And I must think do all I can,

That there was pleasure there.

(== IEN I~ N

If this belief from heaven be sent, 9
If such be Nature’s holy plan, 10
Have I not reason to lament 11
What Man has made of Man? 12

Sub questions



Question Number : 100 Question Id : 8247249342 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet seems to be sitting:

in a forest.

near a lake.

on the seashore.
in a zoo.

Lokl e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 8247249343 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

At the moment the poet is:

happy
infrospective
sad

curious

P g

e

Options:
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247249344 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The season of the year in which these events are taking
place is:

Autumn
Rainy
Winter
Spring

ol o

g

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247249345 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Every object of nature around is enjoying itself.
(b) The poet is concerned about — why Man can’t take
part in this enjoyment.
(¢) Man is looking for the happiness in nature.

. (a) is right and (b) is wrong.
. (b) is right and (c) is wrong.
. (c) is right and (a) is wrong.
. (b) is right and (a) is wrong.

L [ =
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Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247249346 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The figure of speech used in the lines 5-6 is

l. simile

2. metaphor

3. personification
irony

e

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247249347 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Have 5 not reason to lament”
The underline word means the same as;

regret
question
learn
rejoice

e I

P

Options :
1.1
2.2
3.3
4.4

Question Id : 8247249341 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the stanzas given below and answer the questions/complete the
statement that follow by choosing the correct options out of the given
ones.

The birds around me hopp’d and play’d
Their thought I cannot measure.
But the least motion which they made
It seem’d a thrill of pleasure.

oLy k=

The budding twigs spread out thewr fan
To catch the breezy air;

And I must think do all I can.

That there was pleasure there.

(= I I N

If this belief from heaven be sent, 9
If such be Nature’s holy plan, 10
Have I not reason to lament 11
What Man has made of Man? 12

Sub questions

Question Number : 100 Question Id : 8247249342 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet seems to be sitting:

in a forest.

near a lake.

on the seashore.
in a Zoo.

W -

e

Options :
1.1
2.2
3.3

4.4

Question Number : 101 Question Id : 8247249343 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



At the moment the poet is:

happy
introspective
sad

curious

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247249344 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The season of the year in which these events are taking
place is:

Autumn
Rainy
Winter
Spring

ot bt

e

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247249345 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:
(a) Every object of nature around is enjoying itself.
(b) The poet is concerned about — why Man can’t take
part in this enjoyment.
(c) Man is looking for the happiness in nature.

. (a) is right and (b) is wrong.
. (b) is right and (c) is wrong.
. (c) is right and (a) is wrong.
. (b) is right and (a) is wrong.

L d =

I

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247249346 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The figure of speech used in the lines 5-6 is

simile
metaphor
personification
irony

Lot e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247249347 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Have S not reason to lament”
The underline word means the same as:

regret
question
learn
rejoice

L T

P

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724508

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 8247249348 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is ‘comprehensible input’?

Exposing learners to language slightly above their level.
Exposing learners to language slightly below their level.
Exposing learners to language to their comprehension level.
Providing language exposure to learners to understand.

el el

P

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 8247249348 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is ‘comprehensible input’?

Exposing learners to language slightly above their level.
Exposing learners to language slightly below their level.
Exposing learners to language to their comprehension level.
Providing language exposure to learners to understand.

ol el

e

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247249349 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sheela does the following language related activities. Find which one of them is Basic Interpersonal Communicative
Skills (BICS) and which one of them is Cognitive Academic Language Proficiency (CALP).

a. Conversing with her friends and socializing with her friends in English,

b. Taking notes in her Physics classroom and writing report of the experiments.

I, alsCALPandbisBICS
2. Botheraand b are BICS
3. Bothaandbare CALP
4, alsBICSandbis CALP

Options :

1.1

2.2

3.3

4.4

Question Number : 107 Question Id : 8247249349 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Sheela does the following language related activities. Find which one of them is Basic Interpersonal Communicative
Skills (BICS) and which one of them is Cognitive Academic Language Proficiency (CALP).

a. Conversing with her friends and socializing with her friends in English.

b. Taking notes in her Physics classroom and writing report of the experiments.

I, aisCALPandbisBICS
2. Botheraand b are BICS
3. Bothaandbare CALP
4. aisBICSandbis CALP

Options :

1.1

2.2

3.3

4.4

Question Number : 108 Question Id : 8247249350 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of a language?
1. Language is a system of systems.
2. Language is an arbitrary.
3. Language is a logical system.
4. Language is meaning focused.
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247249350 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of a language?
1. Language is a system of systems.
2. Language is an arbitrary.
3. Language is a logical system.
4. Language is meaning focused.
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247249351 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher of class V presented to her learners vocabulary not as individual words, but as unanalyzed chunks like ‘as far
as possible’ ‘wherever possible’ ‘whenever possible’ and so on. What does not method or approach known as?

I, Word chunks
2. Phrasal chunks
3. Lexical approach
4, Communicative approach
Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247249351 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ateacher of class V presented to her learners vocabulary not as individual words, but as unanalyzed chunks like ‘as far
as possible’ ‘wherever possible’ ‘whenever possible’ and so on. What does not method or approach known as?

I Word chunks
2. Phrasal chunks
3. Lexical approach
4. Communicative approach
Options:
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 8247249352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are some of the bottom-up listening activities?

1. Listening to whole message and applying the background knowledge to summarize.

2. Dictation, cloze listening, use of multiple choice questions, identifying positive and negative statements.
3. Rearranging the jumbled words into sentences as one listens.

4. Memorization and recitation of poetry, extempore speech, debate discussions, efc.

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 8247249352 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following are some of the bottom-up listening activities?

1. Listening to whole message and applying the background knowledge to summarize.

2. Dictation, cloze listening, use of multiple choice questions, identifying positive and negative statements.
3. Rearranging the jumbled words into sentences as one listens.

4. Memorization and recitation of poetry, extempore speech, debate discussions, etc.

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247249353 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner recognizes words and clause divisions and retains the input while it is being processed. What types of
listening processes does the learner adopts here?

. Bottom-up strategies

2. Top-down strategies.

3. Both top-down and bottom-up strategies.

4. Neither bottom-up nor top-down strategies

o

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247249353 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner recognizes words and clause divisions and retains the input while it is being processed. What types of
listening processes does the learner adopts here?

. Bottom-up strategies

2. Top-down strategies.

3. Both top-down and bottom-up strategies.

4. Neither bottom-up nor top-down strategies

—



Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247249354 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is receptive vocabulary?

1. Words that we recognize when we hear or see.
2. Words are mostly spelt wrong. .
3. Words we know the spelling.

4. Words used in writing and speaking by a language user.

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247249354 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is receptive vocabulary?

1. Words that we recognize when we hear or see.
2. Words are mostly spelt wrong. .
3. Words we know the spelling.

4. Words used in writing and speaking by a language user.

Options :
1.1
2.2
3.3
4.4



Question Number : 113 Question Id : 8247249355 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Knowledge about the form, describing and apply it in limited practice is known .

l. Procedural knowledge of grammar
2. Grammar in context

3. Declarative knowledge of grammar
Practical knowledge of grammar

i

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247249355 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Knowledge about the form, describing and apply it in limited practice is known .

l. Procedural knowledge of grammar
2. Grammar in context

3. Declarative knowledge of grammar
Practical knowledge of grammar

i

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247249356 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A novel is

an argumentative writing
a persuasive writing

a comparative writing

a narrative writing

o il

>

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247249356 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A novel is

an argumentative writing
a persuasive writing

a comparative writing

a narrative writing

o el

>

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247249357 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An approach to writing which advocates *learning to write by writing’ is known as

1. Process Approach

2. Product Approach

3. Cognitive Approach
Constructive Approach

P

Options:



1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247249357 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An approach to writing which advocates “learning to write by writing’ is known as

1. Process Approach

2. Product Approach

3. Cognitive Approach
Constructive Approach

P

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247249358 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following would you include for assessment of writing?

Grammatical knowledge and use of form.
Content, grammatical control and coherence.
Accuracy of the write-up

Theme, ideas form and handwriting

o il

>

Options :
1.1
2.2
3.3
4.4



Question Number : 116 Question Id : 8247249358 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following would you include for assessment of writing?

Grammatical knowledge and use of form.
Content, grammatical control and coherence.
Accuracy of the write-up

Theme, ideas form and handwriting

o el

>

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247249359 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of following is true of the National Education Policy (NEP) 2020 on language education in schools?

I. Multilingualism both as a policy, resource and strategy.

2. Compulsory study of many languages in school education

3. Promotion of the study of classical languages during the early years
4

. English medivm from early years,
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247249359 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of following is true of the National Education Policy (NEP) 2020 on language education in schools?

I. Multilingualism both as a policy, resource and strategy.

2. Compulsory study of many languages in school education

3. Promotion of the study of classical languages during the early years
4. English medium from early vears.

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247249360 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A reader reads a magazine and is looking for the overall idea of the cover story. What is this reading known as?

1. Scanning

2. Skimming

3. Reading for pleasure
4. Intensive reading

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247249360 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A reader reads a magazine and is looking for the overall idea of the cover story. What is this reading known as?

1. Scanning

2. Skimming

3. Reading for pleasure
4. Intensive reading



Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247249361 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following activities are part assessment for learning?

Project work and assignment

Term tests and monthly test

Near end examination and practical examination
Field visit and tours

o il

>

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247249361 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following activities are part assessment for learning?

Project work and assignment

Term tests and monthly test

Near end examination and practical examination
Field visit and tours

o el

o

Options :
1.1
2.2

3.3



4.4

Question Number : 120 Question Id : 8247249362 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher of class VI found in her classroom there are about seven languages. She uses the languages of learners 1o
teach-learn languages and content subject. What is this strategy known as?

1. Multilingualism
2. Translanguaging
3. Multi language teaching
4. Translation as a method

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247249362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher of class VI found in her classroom there are about seven languages. She uses the languages of learners fo
teach-learn languages and content subject. What is this strategy known as?

1. Multilingualism
2. Translanguaging
3. Multi language teaching
4. Translation as a method

Options :
1.1
2.2
3.3
4.4
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Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 8247249364 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 8247249365 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
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Question Number : 123 Question Id : 8247249366 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 8247249367 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 125 Question Id : 8247249368 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
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Question Number : 126 Question Id : 8247249369 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 128 Question Id : 8247249371 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 122 Question Id : 8247249365 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247249366 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 126 Question Id : 8247249369 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 127 Question Id : 8247249370 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 132 Question Id : 8247249376 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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1.1
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Correct Marks : 1 Wrong Marks : 0
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Question Id : 8247249372 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Question Number : 139 Question Id : 8247249383 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 140 Question Id : 8247249384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 140 Question Id : 8247249384 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 141 Question Id : 8247249385 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 141 Question Id : 8247249385 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 142 Question Id : 8247249386 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 142 Question Id : 8247249386 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 143 Question Id : 8247249387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 143 Question Id : 8247249387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 144 Question Id : 8247249388 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 144 Question Id : 8247249388 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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Question Number : 145 Question Id : 8247249389 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 145 Question Id : 8247249389 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 146 Question Id : 8247249390 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 146 Question Id : 8247249390 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 147 Question Id : 8247249391 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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Question Number : 147 Question Id : 8247249391 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 148 Question Id : 8247249392 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



freforfias & & -8 T & 5290 & a1 5 Wer 2

a- T FHATET 3 S To1emefl g TSI SIaTeAT qT STl AT STTohed i

b- TRTEATIIE 3T 37e WY1 3 WaH ¥ 3966 W@ % T 3 e T

C- Y T T S WY ST A & T el 3 (oA, TSI Bl el e

d- W 3 ¥ 5 {9787 o1 S PV o1 AT SRSt & 3 Jreat F
|, aqmbuetE

caamdwE

3. bAmcTEE

4 dTMa TR

Options :

b

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247249392 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 8247249393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 8247249393 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 8247249394 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 8247249394 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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